4 PEAKTRONICS MKT-186

Actuator Controls Mounting Kit

RCS Sure 100-10, 100-30 Actuators

KIT CONTENTS

QTY DESCRIPTION

actuator bracket

#10-24 x 0.375" socket head cap screw

#10 split ring lockwasher

#6-32 x 0.5" pan head screw

#6-32 x 0.375" pan head screw

#6-32 x 0.375" flat head screw

#6 split ring lockwasher

#6-32 hex nut

potentiometer gear

output shaft gear

potentiometer anti-slip washer

3.3K ohm resistor assembly, red wires (117VAC motor)
6.8K ohm resistor assembly, red/white wires (234VAC motor)
14" black wire (spade terminal one end, fork terminal other end)
14" yellow wire (fork terminal one end)

14" black wire (fork terminal one end)

14" red wire (fork terminal one end)

11" white/black wire (fork terminal one end)

6" black wire (spade terminal one end, flag terminal other end)
22-18 AWG spade terminal

6.3" nylon tie wrap

BErrRrPRrRRRRRPRRRPRPPRPORRRRRER

www.peaktronics.com

PEAKTRONICS, Inc. 1363 Anderson  Clawson, Ml 48017  Phone (248) 542-5640 FAX (248) 542-5643 800-195A  page 1



MKT-186

feuiwel
AOV1d @ J1IHM Jjorenioe
©®
ozo
S ©
ON 1 youws
(OVAPEZ) wyo H8'9 (LHM/AIY) asn
(OVALTT) wyo Me'e (a3y) esn
AVAVAV
|
ON %OZ
Q | (OVAPEZ) 20T-AT1d L | io0edeo
on = | OVALTT) 00T-ATd — | soow W oI @
o)
HUL 31 IHM
owEay
MOvV1g
ON | oS
s ®
ON
®
31IHM \\@

AOV4

*19]1011u02 & Bul|jeisul 0] Joud MORM UMOUS Se Jojenioe alIMey BI0N

SI0JNPY 0E-00T ‘0T-00T 8IS SOY
AV 13d

NVHOVIA ONIHIM

=
o
©
[72]
1S
=
(@]
S
+—
X
[88]
[<5]
o

800-195A  page 2

Clawson, M1 48017  Phone (248) 542-5640 FAX (248) 542-5643

1363 Anderson

PEAKTRONICS, Inc.



MKT-186

9 O,
nlc_ NOWINOD AVT13d
B © 1LNO LINv4
W Hm 1NO N3IJO XNV
(luondo) snpoN Aepy/eniwsUeIL 00T-H10 | 2 ®
(reuondo) ajnpo Jeniwsuel] 00T-X 1O LNO 3ISOT10 XNV
@ aN9D TVYNOIS
© indino yw @ v%mmc_uwﬁ_
........... @- indino A + o
® NdINo AGT+ Joyeb0) pa193uu00
d313INOILN31Od 9( Ued spunols) 810N
SIOvaa3a- O o AGe
¢0T-10d 5
a3ad @ O NOT/S-0 ‘NG-T ._ reubs
4| puewwod [
JLIHM © © YWOZ- |
MOovd @ @ dNO TVNOIS
® ©® ®
‘uado pue asoJo Jo uoikIgIed m, © a3d o o AN9D Hldv3 Q
BuLinp 185 A|E21RWOINE 2T Z 4
s Bunoe sl Jo Bunoe el = MOTIHA AN T ;
@
3. @ MOovid @ @ Ivd1lN3aN 21
0
2
a c ar
° @ A9/ LHM
VYOOT-OHA OVAvreEd
00T-OHA JOVALTT
SI0eNPY 0¢-00T ‘0T-00T 9INS SO ANVHOVIA ONIJIM

SHIANOILISOd TVLI9Id OV

=
o
©
[72]
1S
=
o
S
+—
X
[88]
[<5]
o

800-195A  page 3

Clawson, M1 48017  Phone (248) 542-5640 FAX (248) 542-5643

1363 Anderson

PEAKTRONICS, Inc.



